ADD-ON ACCESSORY SIDE POD MOUNT
/ MULTI DIRECTIONAL LED MOUNT

PARTS INCLUDED

- (2) Side Pod Mounting Brackets

43

INSTALLATION GUIDE

START HERE

PLEASE READ AND UNDERSTAND ALL INSTRUCTIONS BEFORE INSTALLATION.
Auto makers offer varied models to each vehicle and occasionally manufacture more
than one body style of the same model.

* APPLICATION MODELS VARY. WE RECOMMEND TO VERIFY FITMENT BEFORE BEGINING INSTALLATION PROCESS.
* IMAGES FEATURED IN THE INSTRUCTION DOCUMENTS MAY NOT ALWAYS EXACTLY MATCH YOUR MODEL OR PART.

NOTE

This product is designed and required to be used with ZROADZ Front Roof
Mounts. The ZROADZ Side Pod Mounts are an Add-On Accessory.

LED LIGHTS INCLUDED

Z330001 - No LED Lights Included BEFORE YOU BEGIN

START HERE: Turn off engine, chalk tires with stop block, open the
hood and disconnect the battery.

HARDWARE INCLUDED

(2) - m8x 20 HEX Head Cap Screws
(2) - m8 Split Lock Washers

(2) - m8 Hex Nut Stainless Steel

(8) - 10-32 x 7/8” Button Head Screws
(8) - #10-32 Nylock Nuts

STEP1 SEE FIGURE 1

1) Lay out your parts

TOOLS REQUIRED _
A _ ' -

Various Socket Set (o ) .
Various Wrenches

Ratchet Tool

Ratchet Extensions

PAGE 1



https://www.carid.com/zroadz/

7| zroADZ

DYNAMIC LED MOUNTING SOLUTIONS

SIDE POD BRACKETS INSTALL - START
@ e o
. fj _ ﬁ*,":‘/] i

2 Y% __ .
.-:;*»-{‘.\ l

A
[FIG 3 |

2) Carefully remove the screws from one side of the 4) Set aside the screws so that they can be easily accessed
ZROADZ Front Roof Mount. Make certain to prop the shortly.

Coupler and LED Light Bar so that they do not fall out of
position.

5) Put into place the new ZROADZ Side Pod Mount so
that it mataches and appears as seen in Figure #5 with the
mounting surface on the bottom side.

6) Re-Insert the removed screws and secure the ZROADZ
Side Pod Mount so that it is mated and fixed to the
ZROADZ Front Roof Mount Upright.

W4
M7Z| z=e




7| zroaADZ

DYNAMIC LED MOUNTING SOLUTIONS

SIDE POD BRACKETS INSTALL - CUNHNUEI]

o

‘ e ?l e ,- ,"’

7) Tighten Hardware and repeat on opposite side. 8) Put into place the LED Light Pods so the Mounting
Post and Cradle will sit and mount to the newly installed
_ ZROADZ Side Pod Mount.
ra ‘1;* , }! 1 »
_
L .f

Y .II. )

#N

——_

9) At this point, you will want to position the LED Light ' i
Pod to your desired position. It can be positioned to face -
forward, Sideways, Backwards, and also angled Up or

Down.

10) With its final position selected, tighten LED Light Pods
and lock it into place by tightening the hardware so that it
pinches tight to the ZROADZ Side Pod Mount.

11) To adjust the angle of your Light Bar, rotate the LED(s)
to adjust the angles till your desired light pattern is reached.
You may than tighten the hardware and also mounting
bracket to hood and secure everything into place. Note
your tape marker under hood to check for proper alignment.
Be careful not to over tighten the mounting hardware.

4

It is best to adjust the angle with the vehicle on level
ground with lights facing a wall, garage door or other solid
barrier. We recommend checking from a distance of 25’.
Your installation is now completed.

PAGE 3



ZROAVDZ

DYNAMIC LED MOUNTING SOLUTIONS

12) Check over your work for hardware tightness and visual inspection. At this point you want to look over
your work and examine the alignments of the LED Pods from side to side.

Learn more about off-road lights on our website.


https://www.carid.com/off-road-lights.html



